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f ving Sentences S , antione | H
‘ A tors have rwo syFchr :‘:J-s rofafing j1€idS \as -y 'E.tu"tr
Synchronous gene: « T _— oo Pt Pt o i
By the ratgr driven at. De.. taard_/ ahe o F.c&.\ga-)- De c;r(-uJ‘
J £y I7F ks ]
in INE s " o : — e ‘—1 fromt [()‘ 00
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[ n a powe ]

- tadner A btal
o ] 3 ANSA means P lean N“"h’\‘d o P K. \o«'.st\
o )&f Load factor is the N e e o el / P

v

' Gl

cample power system networks. Find the current supplied by

Iy tar the Lransn o line current. the load currvent, the load voltage and the power
1¢¢ JeIroiog bi r f W sy i, d el
114 meed | ¢
D] @ @
o TR i i A 0+ /10 ’—’;_B—__L
' A * B Lee=(10*j0K2 C & M‘ﬂ‘
11.2 KV A=Y b Z, =300 \oa; A
5 MVA 0 10 MVA —_
29 11.2/132 KV 138/69 KV 2
xyq = 0.10 pu Xy2 = 0.10 pu ‘7» %
G v, -
\'$2“ 1)“-\\ 6.} _\\
)," hoose { MVA)b = 100, (KV)b = 138 \ \,59\

Q3
A delta-connected source supplies a delta-connected load through wires having impedances of
Z1ne=0.2+10.60, the load impedance are Z,=30+j60 €, the balanced source ab voltage is

V4=413<60 Find the line current, the line voltage at the load, the current in each phase of the load, the
power delivered to the load, and that dissipated in the line. Draw the per phase equivalent circuit -

D“J/‘ *—ceé

A
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{. Fill in the blanks by inserting appropriate words. o
(/) In short transmission lines, the effects of....Cof2 ! forhre neglected

. P f»"
the most important cauy€ of /p/(,m er

(if) F—‘)}\':?{'CME of transmission lines, is

7

foss in the line. /
(ii/y In the analysis of 3-phase transmission line, only..&0E.. Y IEZ.. is
considered. & o
S EF
(iv) For a given VR and [, the regulation of the linc.m,' th the df:crc.nc_ iy pf “'_".J&

p.f. for lagging loads.

(v) If the p.f. of the load decreases, the line losses.....c)..%r.@;’_/r

(vi) In medium transmission lines, effects of MW\M e taken into

account. (Qwat ,
account the,AéT“)Pl‘é

(vii) The rigorous solution of transmission lines takes in

nature of line constants.

(viii) In any transmission line, AD-BC =....... ‘i ............

(iv) In a transmission line, generalized constants ....... A ....... and .

equal.
(x) The dimensions of constants B and C are respectively -Q"‘ ol v

2. Pick up the correct words/figures from the brackets and fill in the blanks.

(/) The line constants of a transmission line are.........coeee, AURIfOrmly
distributed, lumped) , :
—

(i) The length of a short transmission line is upto about.....

o 200 ko) .

(iif) The capacitance of : ission line i ]
i of a tr’epsmlssmn line is a .......c.c.cocouuue.... lement. [Series,

(iv) It is desirable thag'voltage regulation of a transmission line should
|@ Jygh]

be.ll...-...ll"'.

(v) \Yhen the regulation is positive, the
sending and voltage (VS). [More, @

eceiving and voltage (VR) is .12.55 than
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LISk, .,.ULGQ 68 Hr three-

, s phase line has the following pesitiv C-SegRence
impedance and admittance: Sty

QB8 + JR 48 O ke
=i IR

. : Ame. At full load, the line delivers 250 MW at 0.99 !-«‘.- lagging and
1130 V. Usimg the pomin circuit, calculate: (a) the ABCD parameters. (b) the
sending—cad voltage and current, and (c) the percent voltage regulation (d)

I ramssmesson-hae efficiency at full load.
oS Q*gg) up «2IR
>

_ii_ _L I:S e j(la—?}\)l +é?‘%}

o Y 2 T2 10 - gl Bl /
51 4 ;
oqgl L-\q‘."
_-_»;_;L,_Bugxi -t_:_*—*:o:ajt C /

: o g TN QQS'{‘
s oa :[”‘/qs”o s 4 4

g -7 - (2+7%) =(:73,U’j’,5ﬂjl
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Power system analysis 1 i Ty ¢ GLY Auila

Qr.. R oo e

1. Fill in the blanks by inserting appropriate words,

(/) In short transmission ]m-;;-, the effects ni‘...f,é‘ﬁf.r..':-'.?. 1 are neglected,

.|'
f

‘ o bl o ¥ i 4 g | ‘ * . 4
(1) LESINN SN o {ransmission lines, is the most important cause of power

o

loss in the line. )
(é7) In the analysis of 3-phase transmission line, only.&.2 ¢ g ;',z’;"' t.,-lé
considered, i

s

(iv) For a given VR and I, the regulation of the linen$.X$5¢ With thedecrease in

p.f. for lagging loads.

(v) If the p.f. of the load decreases, the line losses. ML YESE

(vi) In medium transmission lines, effects of @FaSAIanse mytaken info

account. ;

i fé-:muut the .&.

(vi) The rigorous solution of transmission lines takes i
nature of line constants.

(viif) In any transmission line, AD-BC =.....icifdeiinn.

ecuzal.

."{-._ : o

(x) The dimensions of constants B and C are respectively . SV d Sers T
N S
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ore | %mwmmm}g m:lur 5 line
Mwm&bﬁmhﬂhmﬁlmmﬂnﬂm ¢

at s the current angle 5 of this transmission line? .‘ﬂ_:*j. :
; s\ Lﬂ"" g,

Q2. A 208-V three phase power system is shown in Figure. It consists of an
l:- ideal 208-V Y-connected three-phase generator connected through a three phase
- transmission line tc a Y-connected load. The transmission fine has an impedance
e of 0.06 +j 0.12 0 per phase and the load has an impedance of 12 + [9Q per

phase; For this simple power system, find:

o ‘a} The magnitude of line current Iy
b} The magnitude of the load's line and phase vollages Vi, and Vy
¢} The real, active and apparent powers consumed by the load
d} The power lactor of the load
&) The real, reactive and apparent powars consumed by the transmission
fne
f) The real, reactive and apparent powers supplied by the generator.
B ‘g) The generator's power facior

0,04 1 LY

SO EX

AN 0% LY

0,06 a0 Joliainy
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: 4. For the system shown in the figure, the line impedances

.' d are as indicated in per unit on 100MVA base. | S
- A.Using Gauss-Seidel method finds the bus voltages afier
N iterations.

B. Using the bus voltages find the Slack bus real and reactive

power.

L

0.02+ jO.04 pu M f’ Ty N8 < o

0.01+ jO.03pst. 0.0125+ j0.025 pil
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